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SECTION-A

i) General Awareness

World Forestry Day is celebrated every
year on

(A) November 3
(B) March 215t
(C) September 22nd

(D) None of the above

In India the House of the People also
called as

(A) Lok Sabha

(B) Rajya Sabha

(C) Rashtrapathi Bhavan
(D) None of the above

During summer solstice the Northern
Hemisphere witness its

(A) Longest day of the year

(B) Shortest day of the year

(C) Equal day and night

(D) None of the above

The book “Born Again on the Mountain”
is written by

(A) Tenzing Norgay

(B) Bachendri Pal

(C) Arunima Sinha

(D) None of the above

5.  Which of the following statement/s given

below is/are true about Gandhi Peace

Awarded by Government of India ?

a. This annual award is given
to individuals, associations,
institutions or organizations who
have worked selflessly for peace,

non-violence.

b. The award is open to all persons

regardless of nationality, race,

language, caste, creed or gender.
(A) Only (a) is true
(B) Only (b) is true
(C) Both (a) and (b) are true

(D) None of the above

Nobel Prize 2019 in Physics awarded

to the three scientists for their work on
(A) Cosmology

(B) Light pollution

(C) Quantum mechanics

(D) None of the above
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10.

Holy town Badrinath is situated in
(A) Uttarakhand

(B) Bihar

(C) Guijarat

(D) None of the above

Blue Revolution or Neel Kranti is
related to

(A) Aquaculture or Fisheries
development in the country

(B) Sericulture development in the
country

(C) Cereal crops development in the
country

(D) None of the above

What is the speciality of Coradia iLint
train which was rolled out recently in
Germany ?

(A) World's first hydrogen-powered
train

(B) World's first nuclear-powered train

(C) World'’s first fully solar-powered
train

(D) None of the above

The book “My Journey” is written by

(A) A.P.J. Abdul Kalam

(B) Mahatma Gandhiji

(C) Aravind Adiga

(D) None of the above

11.

12.

13.

Who among the following Indian
Journalists recently received the
Prestigious Ramon Magsaysay Award

2019 7?

(A) Armab Goswami
(B) Ravish Kumar
(C) Rajdeep Sardesai

(D) None of the above

Which one of the following Indian films
made official entry to Oscars 2020 from
India ?

(A) Kurukshetra (Kannada)

(B) Gully Boy (Hindi)

(C) Uyare (Malayalam)

(D) None of the above

Konark Sun temple is situated in
(A) Ocdisha

(B) Gujarat

(C) Tamil Nadu

(D) None of the above
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14.

185.

16.

17.

Maitree and Bandhan Express trains
runs between

(A) China and India
(B) Nepal and India
(C) Bangladesh and India

(D) None of the above

Which of the following organization
given below is the three times recipient

of “Nobel Peace Prize” ?
(A) Red Cross

(B) UNICEF

(C) ICAN

(D) None of the above

Who was also popularly known as

“Grand old man of Indian cricket” ?
(A) Dinkar Balwant Deodhar

(B) Vijay Hazare

(C) Mansoor Ali Khan Pataudi

(D) None of the above

Olympics 2020 will be held at
(A) New Delhi, India

(B) Tokyo, Japan

(C) Beijing, China

(D) None of the above

18.

19.

20.

The Kalinga Prize for the popularization

of Science given by
(A) WHO

(B) UNICEF

(C) UNESCO

(D) None of the above

The Pulitzer Prizes honors

(A) Excellence in the field of journalism

and arts
(B) Excellence in the field of science

(C) Excellence in the field of space

science

(D) None of the above

Which of the following trench is the

deepest part of the Earth’s ocean ?
(A) South Sandwich Trench

(B) The Mariana Trench

(C) The Diamantina Trench

(D) None of the above
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21.

23.

24,

25.

ii) General Intelligence and Reasoning Ability

Fifteen years from now Raju’s age will
be 4 times his present age. Present age
of him is

(A) 5years
(C) 6years

(B) 4 years
(D) 7 years

If 15t January, 2001 was Monday, then
what day of the week was it on
318! December, 2001 ?

(A) Wednesday
(B) Friday

(C) Monday
(D) Saturday

In a gathering seven members are
sitting in a row. C is sitting left to B, but
on the right to D. A is sitting right to B.
F is sitting right to E, but leftto D. H is
sitting left to E. Find the person sitting
in the middle.

(A) C (B) D
(C) E (D) F

Seeta and Ram both start from a point
towards North. Seeta turns to left after
walking 10 km. Ram turns to right after
walking the same distance. Seeta waits
for some time and then walks another
5 km, whereas Ram walks only 3 km.
They both then returns to their respective
South and walk 15 km forward. How far
is Seeta from Ram ?

(A) 15km (B) 10 km
(C) 8km (D) 12km
Four girls A, B, C and D are sitting
around a circle facing the centre. Band C

are in front of each other. Which of the
following is definitely true ?

(A) A and D are in front of each other
(B) A is not between B and C
(C) Distotheleftof C

(D) Aisto the left of C

26.

27.

28.

29.

30.

Vandana drove her car for 30 kms
due North. Then she turned left and
drove for 40 kms. She then turned left
again and drove yet another 30 kms.
Again she turned left and drove her car
50 kms. How far do you think she actually
drove car from the initial point ?

(A) 10 km (B) 50 km
(C) 30 km (D) None

Five boys are standing in a row facing
East. Pavan is to the left of Tavan, Vipin,
Chavan. Tavan, Vipin and Chavan are
to the left of Nakul. Chavan is between
Tavan and Vipin. If Vipin is fourth from
the left, then how far is Tavan from the

right ?
(A) 18t (B) 2nd
(C) 3 (D) 4th

If 31x5 is a multiple of 3, where x is a
digit, then x =

(A) O B) 1

C) 2 (D) 4

if A is B's sister, C is B's mother, D is

C's father and E is D's mother, then how
isArelatedto D ?

(A) Granddaughter
(B) Daughter

(C) Aunt

(D) Father

Shalloo ran 20 m to the East, then he
turned left and walked for 15 m, then
turned right and went 25 m and then
turned right again and went 15 m. How
far was Shalloo from the starting point ?
(A) 45m (B) 35m

(C) 25m (D) 15m
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31.

32.

35.

36.

Which one set of letters when sequentially
placed at the gaps in the given letters
series shall complete it ?
a_ca__c__dec__d__ad__

(A) ddacdc (B) daadca
(C) dadaac (D) ddaacc

Renuka started walking from her house,
she first walked for 3 km towards West,
then she turned towards North and
moved 4 km in that direction. How far
Renuka is from her house ?

(A) 3 km South

(B) 5 km South-East

(C) 5 km West

(D) 5 km North-West

The median of goals secured by a team
in 10 matches given by 2, 3, 4,5, 0, 1,
3,3,4,3is

(A) 8 (B) 4

(C) 35 (D) 5

There are five different houses, Ato E
inarow. Aistotherightof Band E is
to the left of C and right of A. B is to the
right of D. Which of the house is in the
middle ?

(A) A (B) B

(C) C (D) D

‘MORE is related to ‘EORM' in the same
way as ‘SUIT is related to

(A) TIUS (B) IUST

(C) ISTU (D) TUIS

If ‘P x Q' means ‘P is sisterof Q', ‘P + Q'
means ‘P is mother of Q'. ‘P—Q' means
‘P is father of Q" and ‘P + Q" means

‘P is brother of Q. Which of the following
represents ‘M is the nephew of R’ ?

(A) M=T-R
(B) R«T—-M
(C) RxT+MxJ
D) R+T-M=J

37.

38.

39.

AT D O 00 0 00 0

Five friends P, Q, R, S and T are sitting
in a row facing north. Here, S is between
T and Qand Q is fo the immediate left of R.
P is to the immediate left of T. Who is
in the middle ?

(A) S B) T
C) Q (D) R
Saroj is mother-in-law of Vani who is
sister-in-law of Deepak. Rajesh is father

of Ramesh, the only brother of Deepak.
How is Saroj related to Deepak ?

(A) Mother-in-law (B) Aunt
(C) Wife (D) Mother

Which one of the following diagrams
represents the correct relationship among
Teachers, Educated, Employed ?

O
QO

"

o @D

By taking the given statements are true
you have to decide which of conclusions
always follow ?

(A)

Statements : Many hens are horses.
All'horses are singers.

Conclusions : |. Some hens are singers.
Il. No horse is a hen.

(A) Only | follows

(B) Only Il follows

(C) Neither | nor |l follows

(D) Both | and Il follow
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41.

42.

12-

iii) Arithmetical and Numerical Ability

Half the perimeter of a rectangle garden,
whose length is 4 m more than its width
is 36 m. The dimensions of the garden
are

(A) 20mand 20 m
(B) 16 mand 18 m
(C) 20mand 16 m
(D) 18mand 20 m
A train covered a certain distance at a
uniform speed. If the train would have
been 10 km/h faster, it would have
taken 2 h less than the scheduled time
and if the train was slower by 10 km/h,
it would have taken 3 h more than the

scheduled time. The distance covered
by the train is

(A) 535 km (B) 572 km
(C) 600 km (D) 623 km

Two chairs and three tables cost
T 5,650, whereas three chairs and two
tables cost T 7,100. Cost of a chair is

(A) T550

(B) T 1,200

(C) T 2,000

(D) % 1,355

Roots of the equation

x2 = (V3+1)x +V/3=0are
(A) /3 and 1

(B) V3 +1and 3

(C) 1and—-+/3

(D) -3 and V3

45.

46.

47.

49,

If the equation (k —12)x% + 2(k—12) +2=0
has equal roots, then value of k is

(A) 12 (B) 14

(C) -12 (D) —14

The speed of the boat in still water is
15 km/h. It can go 30 km upstream and
return downstream to the original point

in 4h and 30 min. What is the speed of
the stream ?

(A) 5 km/hr (B) 7 km/hr

(C) 5.5 km/hr (D) 6 km/hr
Which of the following form an AP ?
(A) 1,1,2,2,3,3,...

(B) V3,V12,+27, 48,...
(C) 0.3,0.33,0.333,...
©) -1,1,-2,2,-3,8,...

What is the next term of AP :
(a+b),(@+1)+b,(@a+1)+(b+1),..7?

(A) (@+2)+(b+2)
B) (@a+2)(b+1)
(C) (@+2)+(b+1)
(D) (a+3)+(b+2)

If %+;—y=2 and %+21_y=1§ then
x and y are respectively

(A) 1and 1

(B) -%— and %

(C) 2and 3

(D) none of these
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iiii) SFERTTUTAT TS WEATH AT

ek TR s ot a1nef uftafa e i 2
3N zoeh TaTE, IuEh =R 8 4 1 it
2, 9 @i i FEE-eE

(A) 204 3R 20 Ht

(B) 164 3 18t

(C) 207t 37 16

(D) 18 3 20 i

T TS FS N UF THE G H T
Hﬂ?ﬁ%lﬂﬁmﬁﬂﬁﬁﬁmﬁﬂﬂ/ﬂa
1 & ST A 98 39 g i i ' @
2tr%ammﬂu£raﬂafﬂaﬂwﬁ}amﬁ
=t 71 =1 10 Tt /=T = = e s
At 3 39 gl 1 9 F | Freifa ana
3 52T ATt o | IS gRY 99 e
Fama?

(A) 535 e (B) 572 famdt

() eoofFdt (D) 623

21 i iR fF Fae A 3 5,650
SFaifer ot 3T 3R 2 T9A I Hed T7,100
2, weh eff o e fora @ 7

(A) %550

(B) % 1,200

(C) % 2,000

(D) ¥ 1,355

THF X2 — (V3 +1)x +/3=0F A=
(A) V3 31

B) 3 +13R 3

(€) 13Mm -3

(D) —/3 3t 3

45.

46.

47.

49,

Ife T (k— 12)%2 +2(k —12) +2=0
% ol THM 7, T k T 514 31 80 7

(A) 12 (B) 14
(C) —12 (D) -14
17 S # A1 i = 15 ot /e R ) Em
% fradia 30 fardt st o s S e et

O IS T W AN A T8 4 5921 30 e
a-‘:rwém% AamH TR 7

(A) 5 fedft/e  (B) 7 Fedft/ea
(C) 5.5 f&t/wzr (D) 6 faeft /=
TH U FiE O gurR o FEIHE 2
(AY=1, 1,2,2,8, 3,...

(B) 3,412,427, J48,...

(C) 0.3,0.33,0.333,...

(D) =1,1.-2.2.-3.3,...

FEI A (a + b), (@ + 1) + b,

@+ 1)+ (D+1),... T T UG FNERT 7
(A) (@a+2)+(b+2)

(B) (@+2)(b+1)

(C) (@+2)+(b+1)

(D) (a+3)+(b+2)
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50.

51.

52.

53.

A man repays a loan of ¥ 3,250 by
T 20 in the first month and then increases
the payment by ¥ 15 every month. How
long will it take him to clear the loan ?
(A) 10 (B) 13

(C) 17 (D) 20

If the 3" and 9" terms of an AP are

4 and — 8 respectively, then which term
of the AP is zero ?

(A) 51 term
(C) 7™ term

(B) 6Mterm

(D) 8t term
Ifk—1,k +3and 3k— 1 are in AP, then
value of k is

(A) 2

(B) 9

(C) 4

(D) None of these

If the common difference of an AP is 3,
then ayy— a5 is

(A) O

(B) 5

(C) 15

(D) Cannot be determined

The common difference of the

1 1 1 1
— 9=, 13—, 17—, ... i
AP, 52 > 2 5 is
1
(A) 47 (B) 5
(C) 4 (D) 3

55.

56.

57.

58.

59.

60.

If a die is thrown, then probability of
getting 4 is

4 1

A & ®) 5
2 3

© 3 @) §

Value of 06 52 is

(A) 3 B) -2

(C) 0 (D) 1

In how many ways 7 people can be
seated in a row if two particular people
always want to be together ?

(A) 720 (B) 1440
(C) 2880 (D) 360

How many 5 digits numbers can be
formed with the digits 2, 3, 5, 7, 9 which

are greater than 75,000 ?
(A) 12 (B) 24
(C) 36 (D) 48

In how many ways can 4 people occupy
6 vacant chairs ?

(A) 4
(C) 225

(B) 6
(D) 360

The number of arrangements of the
letters of the word ‘COMMITTEE’
ending with MITE is

(A) 120 (B) 200
(C) 150 (D) 175



50.

91.
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53.
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UF HATEH! YA T 3,250 o T Al Fehrd!
36 TR a1 & o geen wde

% 20 1 YA FAT & AR G H 39
T o AT A w2 15 F Sead
AT T, T 0 HE 8 3¢ e
T 2

(A) 10 (B) 13
) 17 (D) 20
Tfe fordt TmTar Hoft s deg 3R 96l 91

FHI: 4 3T — 8 7, Y guiar Avft 5 HE
Ig Y[ B ?

(A) 59198
(C) 731 Ug

(B) 691 TE

(D) 8@ UE

i k-1, k + 3 71T 3k — 1 T GHIGL Soft
A9 &, 1 k =1 =719 a2 7

(A) 2

B) 9

(C) 4

(D) T & i T

If2 faredt T 2oft =1 g A 3 2,
W ayy—ai5="7

(A) 0

(B) 5

(C) 15

(D) Tt =1t Topan s gear

T T

5 185 175. o
g T R g ?

(A) 4~

2
(C) 4

T Aft 5%, 9

(B) 5
(D) 3

55.

56.

57.

58.

59.

60.
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ot T A S W 4 A A wEE
fera Bt ?

4 1
A 3 B) 3

2 3
©) 5 (D) &
2 4
}26 sz\mm%
(A) 3 (B) -2
(C) 0 (D) 1
e fe ® 7 A ot TR alies o feeran
1 GHAl & a9 398 O S AN SHY 9T
@A AR & 7
(A) 720 (B) 1440
(C) 2880 (D) 360
2,3,5,7, 9 37k § 5 3 arelt fwadt
AT SITS ST Gt & ST 75,000 & 24t
B ?
(A) 12 (B) 24
(C) 36 (D) 48
Toram TRl © 4 T 6 @Eft HiEEl WS
THd g 7
(A) 4 (B) 6
(C) 225 (D) 360
‘COMMITTEE' Y158 o 31&T I Jeda e
FTeF o I158 SHTT 1 Hehd & Torgeh 37a
" MITE® ?
(A) 120 (B) 200
(C) 150 (D) 175
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61.

62.

65.
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iv) Hindi Language and Comprehension

&=t s e =y
FH H qTaareE §9 968 § 67. faumares o v |
(A) AT (A) T® U ST IETET e & |
(B) =g (B) 39 =Ta § fFeht = s T 2 |
(C) TFM (C) HI F e 7 3m ?
(D) i (D) =® & Tt 1 w=iE # |
T o TIZh 91 SR B 68. IIGT = U-fese
(A) 32va 3R faga (A) 39 + TR
(B) aal A foba (B) I + I
(C) =¥ R (C) I + W
(D) =4 37 fasgiwon (D) 39 + T
ETRT SR AT o T F o e 94 2
(A) 69. foem Fifs |
(B) drF a) wasdfa ) it qegey
(C) B9F aH™
(D) Fvefemn b) TWEEH 1) T ey
_ THH
B2 Jad Gug 1 At o = FEa § - e
(A) Tfa (B) =fa Mol .
©) o= ) d) st IV) = Teqey THE
ggde vl -faeae ® a b ¢ d
(A) G+A+3I+q+B+H+9+HA (A w1V
(B) +d+3+H+3+5+H @ v m on
(C) I+HA+T+3I+L+H+I ++ A © m v n 1
(D) F+A+I+T+HA+Y+I+ L+ +H o v
H1g h1 siga= ¥ 70. w1 At TE w3 B
(A) =g (A) TS et STt el
(B) Hrg (B) H= F1 3T Tl et
(C) enfeat (C) == =31 T&i &
(D) =T (D) T=2 = T FI AETIFHAT T8 &
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72,

73.

74.

A7

I | HH-G1 3997 2 7
(A) 3 (B) afa
(C) =@ (D) T & g 7l

o o o aimETEs e fasmor 2 7
(A) & = BaH e 2

(B) TS 3R MEE &

(C) & gwg FHis 72 vgaar

(D) 39 9R a1 | Fga oie 0

T s |

a) 7™ 1) o

b) & ) g

c) 39 m) fag=

d) m= V) TR
a b c d

A IV

@® IV I unom

C v m 1 on

@ v

e ifs |

a) TwE 1) reEIE

qH1E

b) HE i) fag wwmm

c) Hagmar ) FHIT GHTH

d) el IV) gy THE
a b c. d

A IV omu

® 1 v oo

€ v

o nun v omo

75.

76.

T ¢

78.

79.
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firem #ifsm |
a) 3W )
b) == Iy @
c) T ny s
d) F Iv) et

a b c d
A L1 IV
® m 1 v
© v oo
o I mounwv
feafafaad a T-a v qewa 2 7
(A) (B) §IA
(C) @& (D) =TS e
A faim o 2@ R |
(A) T
CHEELERE =l
(C) 3TehHe famam
(D) @i fofam
“gfee * yeg g R

(A) Tsaeh = w3 &

B) FSwh aen= fmasmaa
(C) Torrt wew = it aran &1

(D) Toreht smen & 9 F wft @

G A g |

(A) S aga Ht R |

(B) feamaga S=ft 2 |

(C) foamet siga St & |

(D) EaTer &g St ? |

‘TR % AW TS T He o e R

(A) SHepet FE
(B) wHifea wreFl & 19 TAHT
(C) DI BT TST FTH FAT

(D) Hiftra wreAT @ &2 T T2 B
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v) English Language and Comprehension
SISH W S Ay

In each of the following sentences a word is
underlined. Choose the right synonym of the
word underlined from the alternatives given
below the sentence.

81. It seemed incredible.
(A) Ambiguous
(B) Impertinent
(C) Irrelevant
(D) Unbelievable

He tried not to notice people’s
contemptuous attitude towards him.

(A) Friendly
(B) Insulting
(C) Appreciative
(D) Indifferent

82.

Fill in the blanks in the following sentences
using the appropriate antonyms of the word
underlined.

83. Now that we know the theoretical
framework, let us examine the
aspects.

(A) Abstractive
(B) Hypothetical
(C) Practical

(D) Suppositious

She was concerned by the Vagueness
of the subjects, whereas others were
struck by their

(A) Clarity

(B) Unclearness
(C) Obscure
(D) Muddy

Fill in the blanks in the following sentences
using the appropriate forms of the words given
in brackets.

85. He accepted the situation with a
hopeless (resign).
(A) Resign
(B) Resignness
(C) Resignment
(D) Resignation

86. He would add that
for his sins.

(A) Atone

(B) Atoneness
(C) Atonement

(D) Atonity

(atone)

Give one word substitutes for the following
from among the choices given below them.

87. A wrongful entry upon the lands of
another.

(A) Banal

(B) Swagger
(C) Primeval
(D) Trespass

88. A puzzling question, problem, or
matter.

(A) Shandygaff

(B) Blatant

(C) Riddle

(D) lrascibility
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Fill in the blanks in the following sentences with
the appropriate words from the alternatives
given below them.

89. Those were the golden, unforgettable
of heroism and sacrifice.

(A) Moments
(B) Movements
(C) Moaments
(D) Moovements

90. Ifthey had to go out, they would always
take a longer
(A) Root (B) Route
(C) Roat (D) Rot

Fill in the blanks with suitable articles from the
alternatives given below them.

91. Manuis union leader.

(A) a (B) an

(C) the (D) none of these
92. Karishma is S.P. candidate

from U.P.

(A) an

(B) a

(C) the

(D) none of these

Fill in the blanks with appropriate prepositions
from the alternatives given below them.

93. The price of fuel has been rising

2014.
(A) for (B) by
(C) since (D) down
94. We reached the airport of
you.
(A) ahead (B) between
(C) towards (D) along

MKG-XXXI/TECHCIHSC/1T/06

95. The ball was hit the
batsman.
(A) with (B) by
(C) from (D) besides

Add suitable question tags to the following
statements from among the alternatives given
below them.

96. Bringyourguitar, = ?
(A) will you
(B) won’t you
(C) doyou
(D) don't you

Choose the best way to complete the sentences
below.

97. Hesad
(A) That two and two make four
(B) Two and two made four
(C) That two and two makes four
(D) Two and two will make four

Fill in the blanks with suitable adjective from
the options given below each sentence.

98. My fatheris
(A) elder
(B) eldest
(C) older
(D) oldest

than your father.

89, - My.. -
(A) elder

(C) eldest

brother is an |IAS officer.
(B) older
(D) oldest

How students are there in
the hostel ?

(A) much

(B) many

(C) more

(D) none of these

100.
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101,

102.

103.

104.

105.
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SECTION - B
Post Specific Subject ~ Related Questions

System of the body which co-ordinates
and control its activity is known as

(A) Organ system

(B) Muscular system
(C) Nervous tissue
(D) Nervous system

The active stage in the hair growth
cycle is

(A) Anagen

(B) Catagen

(C) Telogen

(D) Mutagen

Which of the following is not a function
of the skeletal system ?

(A) Protection

(B) Support

(C) Heat absorption

(D) Movement

The comb used with clippers that allows
you to cut the hair very short and close
to head is the

(A) Barber comb

(B) Regular cutting

(C) Styling comb

(D) Wide tooth comb

When performing a skin analysis on
client the therapist records a number of
factors including small pores, roughness
of the skin when touching and client also
complains her skin feels tight.

From the options, select the client's skin
type.

(A) Combination

(B) Sensitive

(C) Dry

(D) Mature

106.

107.

108.

109.

110.

111.

A more modern terms for thinning of the
hair is

(A) Removing weight
(B) Removing texture
(C) Removing curl

(D) Removing length

Good grooming is part of

(A) Personal hygiene

(B) Public sanitation

(C) Public safety

(D) Government requirements
A good safety measure is to sweep up
hair and dispose it of

(A) After below drying

(B) After you cut the hair

(C) Before below drying

(D) Aiter the client had left

How is melanin produced ?

(A) During the process of
desquamation

By cells called melanocytes
In the sweat glands of dermis
By cells called histiocytes

(B)
(C)
(D)
Hair texture is based on the

(A) Elasticity of the hair

(B) Diameter of each hair strand
(C) Condition of the hair

(D) Amount of the hair

What organ secrets intestinal juices ?
(A) Small intestine

(B) Pancreas

(C) Liver

(D) Gall bladder
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W -
e wfaithes fawa - gadt uvA

IR 1 98 YOITE, S THd o i it
2 iR za TR ) R e 2,
W g am g S S g ?

(A) 37T JUTTAT

(B) wiEHSi ot

(C) i FHa%

(D) et Jomedt

ATl % TorerTe = ot wisy s
FRY

(A) ﬁﬁﬁ

(B) e

(C) oS

(D) =
fr=fafaa § @ % o e FEe goned
FAR R T

(A) g

(B) HE™@l

(C) TIF =1 =TT

(D) Tid
EE I e LG AR IEC I IR L
Tl ol Sgd BIT SR 16T 3 Hild a9 FIe
HET §9d BT 8, 39 Fed &

(A) =TS 6 s

(B) |m= &

(C) wergfem st

(D) =S ETal Jreit et

e 1S TeIfehode Ush UTEeh =l ool fageteoy
FAT & A TS FH &9 H & 9, B
&3, W GETH 3R U o
fRrepraa e 2 o6 Sudf s e © |
feu o faemeat & SaTu T3 TTeek =
a%nﬁmmﬁg?

(A) Tufsm

(B) GaEuie

(C) wd-gaE!

(D) witgsa

106.

107.

108.

109.

110.

111.
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Tl o gael s HaH ATy w51
1T 7

(A) TS FH FET

(B) SAEE &M

(C) I & e

(D) TS T T

=t o S B e e 2 7
(A) SAfFET @A

(B) eI el

() aﬁaﬁmw

(D) T SyuEN
STl I 1S e SFa e
AT 3 PR T ST e 3u @
(A) fRFgEIF AR

(B) STl 1 A & o18

(C) r=rgEs ¥ et

(D) UTES * S & e

AT F I FE e e ¢

(A) T it wfeman & S

(B) USAMHIETSZE AT FHISTRIST I
(C) o it wei= i uferi §

(D) Tefeaamsey Fme Hifde g
T ht SEe T STEiE 2 |
(A) ST 1 T

(B) I 9Te1 1 T

(C) == it feufs

(D) =T =t AT
?;mainm‘i‘aééﬁ’tm’faﬁmﬁaw
(A) B ATa

(B) =M™

(C) 3Fd

(D) TR
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113.

114,

115.
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The literal meaning of yoga has the
following meaning

(A) Division

(B) Union

(C) Multiplication
(D) Subtraction

The term sterilization means

(A) Keeping services clean

(B) The process of making hygienic
conditions

The complete destruction of all
micro-organisms

All of the above

(C)

(D)

Primary and secondary colour positioned
opposite each other on the colour wheel
are

(A) Complementary colours
(B) Warm colours

(C) Cool colours

(D) Secondary colours

Which specific massage movement
would you use on a client presenting
with tension in the shoulders ?

(A) Cupping

(B) Vibrations

(C) Hacking

(D) Petrissage

The active ingredients in neutralizers is
an oxidizer called

(A) Alkaline

(B) Sodium

(C) Alkalizing

(D) Hydrogen peroxide

17,

118.

199.

120.

121.

122.

Acne is caused by a disorder of which
gland ?

(A) Pituitary glands
(B) Sweat glands
(C) Sebaceous glands
(D) Endocrine glands

The main purpose of yoga
(A) Stress relief

(B) Healthy body

(C) Peace of mind

(D) Al of the above

To prevent the clients skin during
perming, apply protective cream

(A) On the hair

(B) Around the hair line
(C) Between subsections
(D) None of the above

What does desquamation mean ?
(A) Removal of dead skin cells

(B) Steaming the skin

(C) Removal of blackheads

(D) Removal of milia

One asana best to be done after eating
food

(A) Pawanmuktasana

(B) Vajrasana

(C) Taadasana

(D) Gaumukhasana

The technical terms used to describe
grey hair is

(A) Albino

(B) Premature

(C) Canities

(D) Genetics
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118.

114.

115.

116.

i = Ynfees 7l SH A FATR 7
(A) TaursE=
(B) HISH

(C) Tom
(D) =erE

TR & 1 Haeid ©

(A) Fa1=T il T== T

(B) wameege feufa s 6t wlimn

(C) @it gem-fiai =1 i famm

(D) I9tiga T+t

o1 % ufew § wrefhes 3R fdias T v
TE % AT | T TR, 9R

(A) T T

(B) "H

(C) sfaa @

(D) feeitaes @

1§ TG o W TG U TEF WA
-4t fosty mers sk = s T 7
(A) wHfum

(B) A

(C) Bfer

(D) S

SYTATEH 1 UF UHT HTIT SR
T e, od wea ®

(A) @R’

(B) ditezw

(C) @i

(D) TSN YETEE

17.

118.

118.

120.

121.

122.
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Heran fora Uiy % PR S wror T e 7
(A) gy ufet

(B) e ufdmi

(C) =EmF Ut

(D) 7 gt ufemt

N 9 I B
(A) "G Fa © TEa

i F A aEs R ET R F=E F 6
187 Sh1H ST ITAFT ST ST

(A) & T

(B) I AT & THI SR
(C) 3Iu-vmETaA! & s
(D) I © s Ta

oo = T HawE @ 7

(A) WA T SHITITERISAT I BT

(B) =T I 919 &I

(C) s%hag Tl BT

(D) Tuferr =t =emn

T EH % 912 61 Seare Ga9s A6
wHATR ?

(A) YSHHERIEA

(B) ISEA

(C) arErEH

(D) e

TS ST 3 ST 3 [oT0 SEHTe fahaT ST
T AT 762 B

(A) At

(B) did=ar

(C) Ffdm

(D) SHfead
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123.

124.

125.

126.

127.

128.

What is a normal reaction during a
waxing treatment 7

(A) Stripping of the epidermis

(B) Blood spatting

(C) Burning of the skin

(D) Allergic reaction

The thickened club shaped structure

that forms the lower part of the hair root
is the

(A) Hair bulb

(B) Medulla

(C) Follicle

(D) Cuticle

What is the function of the orbicularis
oculi ?

(A) Raise the corner of the mouth
(B) Rotates the head

(C) Closes the eyelid

(D) Plantarflex the ankle

What is alopecia areata ?

(A) A scalp condition similar to
eczema

(B) Patchy hair loss

(C) A brand of shampoo

(D) Split ends

What type of questions should be asked
during a consultation ?

(A) Closed only

(B) Open only

(C) Open and closed

(D) Rhetorical

Which is the Sanskrit root word for the
yoga ?

(A) Yuyj

(B) Yuje

(C) Yug

(D) Yog

129.

130.

131.

132.

133.

134.

1360 0O T 0 0 0

What is another name for Dandruff ?
(A) Psoriasis

(B) Scurvy

(C) Scurf

(D) Eczema

Threading is also known as
(A) Banding

(B) Stitching

(C) Sewing

(D) None

Which layer of the hair structure contains
pigment cells ?

(A) Medulla

(B) Cortex

(C) Cuticle

(D) Hair bulb

What part of the hair can be seen above
skin's surface ?

(A) Root

(B) Shaft

(C) Follicle

(D) Bulb

Curl used to create a wave behind a
ridge are called

(A) Skip waves

(B) Ridge curls

(C) Finger waves

(D) Clockwise waves

Which one of the following is not a
part of Ashtanga yoga ?

(A) Yama

(B) Dhouti

(C) Niyama

(D) Pranayama
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AfFaT 7= F W T wiafEar F=n
AR 7

(A) s e = fe i

(B) T TeA

(C) w==TH e[

R SEEIRIGIEEI

TS o ST 3 HIel Bl e e ol el
=1 T e &1 2 2, 98 e ©
(A) T Tos

(B) Hget (W)

(C) wifershet (9)

(D) e (Seell)
FifegaiE et T HE & 7
(A) HE & FHHTH IFH

(B) Ter =1 gumn

(C) UeTeh =l &g AT

(D) TEH Tl AETAT FAT

AT YT uftEreT = 7

(A) ufFsEr & ga RRaes i iy
(B) =IFal & T4/ STl shl ASAT

(C) I F TF 1S

(D) @rge s

TOHY! % SR fRE SR % W 48 ST
=few ?

(A) Faa Hifag

(B) here Gell

(C) Wen A Hiftm

(D) ITERTEE

I 1 H&ha H el o2 F1 8 7

(A) I&

(B) T™

(C) T

(D) =

129.

130.

131.

132.
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135.

136.

137.

138.

139.

140.

How long should you take to perform a
manicure ?

(A) 60 minutes
(B) 90 minutes
(C) 30 minutes
(D) 15 minutes

A classic styling brush has a
(A) Half rounded rubber brush
(B) Ventilated base

(C) Generally oval base

(D) Large flat base

Which is the popular area for
threading ?

(A) Sideburns

(B) Forehead

(C) Eyebrows

(D) None

What is terminal hair defined as ?

(A) Fine, soft, downy hair

(B) Soft hair lacking pigmented hair

(C) Deep rooted coarse pigmented
hair

(D) Coarse corkscrew hair

Largest muscle in the human body is
(A) Latissimus Dorsi

(B) Sartorius

(C) Gluteus

(D) Quardiceps

You'd like your hair straight and sleek.

What tool would the stylist used to
achieve this ?

(A) Crimping tool

(B) Curling tongs

(C) Straightening irons
(D) Hot brush

141.

142.

143.

144,

145.

146.
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How many limbs are there in yoga ?
(A) 7

(B) 8

(C) 12

(D) 5

Which of the following is not contra-
indicated to foot massage ?

(A) Recent scar tissue

(B) Crow's feet

(C) Diabetic clients

(D) Skin infections

Hair cut with a projection over 90 degree
is called

(A) Uniform layer

(B) Solid form

(C) Increased layer

(D) Graduation

The effects of calomine mask
ingredients include to

(A) Reduce vascularity
(B) Stimulate

(C) Moisturise

(D) Deep cleanse

The foundation of every hair cut is
considered to be

(A) Form

(B) Colour

(C) Texture

(D) Porosity

What is the study of skin and its diseases
called ?

(A) Cosmetology

(B) Dermatology

(C) Cardiology

(D) Nephrology
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147.

148.

149,

150.

151.

152.

A stylist would never cut hair using
which of these implements ?

(A) Razors

(B) Clippers

(C) Pinking shears

(D) Scissors

Premature skin ageing can be prevented
or slowed by daily skin care and a

(A) Surgical process

(B) Dehydration treatment

(C) Well balanced diet

(D) Skin lesion

What is the pH of a permanent colour ?
(A) 65-75

(B) 85-95

(C) 7.5-85

(D) 9.5-10.5

In yoga, the word asana refers to
(A) A breathing practice

(B) A chant

(C) A yoga posture

(D) None of the above

Keratin consists of
(A) Proteins

(B) Bone

(C) Muscle

(D) Nerves

Which of the following ingredients can
be found in shampoo for dry hair ?

(A) Lemon
(B) Mango
(C) Coconut
(D) Orange

153.

154.

155.

156.

157.

158.

A0 0 G000 0 00

What temperature should warm wax
be used at ?

(A) 50°C (B) 40°C

(C) 65°C (D) 75°C

The main reason for applying surface
conditioners to the hair is to

(A) Open the cuticle

(B) Smooth down the cuticle

(C) Heal damaged hair

(D) Prepare the hair for chemical
service

Which endocrine gland is known as the
master gland ?

(A) Pineal

(B) Thyroid

(C) Adrenal

(D) Pituitary

The process of shaping and directing the

hair in to a pattern of S-shaped waves
with the fingers, combs and lotion is

(A) Finger waving

(B) Wet setting

(C) Thermal curling

(D) Thermal waving

Which one of the following is a cause
of ingrowing hairs ?

(A) Too much exfoliation

(B) Oily skin

(C) Hot wax

(D) Poor waxing technique

The three main parts of a pin curl are
the base, stem and .
(A) Curl (B) Medulla
(C) Wave (D) Circle
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159.

160.

161.

162.

163.

164.

What do the carpal bones form ?
(A) The wrist

(B) The fingers

(C) The elbow

(D) The collar bone

The physical practice of yoga is a
branch of yoga

(A) Hot yoga

(B) Yin yoga

(C) Hatha yoga

(D) Karma yoga

Functions of the hair include
(A) Excretion

(B) Protection

(C) Secretion

(D) Absorption

The part of the nail which extends
beyond the fingertips is called
(A) Nail bed

(B) The matrix

(C) Free edge

(D) Lanula

An acute, localised bacterial infection of
the hair follicle that produces constant
painis a

(A) Wart

(B) Furuncle (bail)

(C) Scutula

(D) Parasite

Which of the following is a sattvic

diet ?

(A) Purely oily food

(B) Stale and junk food

(C) Balanced and wholesome food
(D) Excess salty food

165.

166.

167.

168.

169.

170.

Mask application usually begins on
the client’s

(A) Forehead

(B) Cheeks

(C) Chin

(D) Neck

The wave pattern of the hair refers to
the of the hair strand.

(A) Density

(B) Weight

(C) Color

(D) Shape

What is the link from one massage
movement to another called ?

(A) Effleurage

(B) Petrissage

(C) Tapotement

(D) Frictions

Surya Namaskar has the inclusion of
(A) 12 mantras

(B) Specific posture

(C) Breathing

(D) All the above

It is desirable for the salon to have a
separate consultation area because

(A) The light is better

(B) More space is available

(C) It helps to sell products

(D) Privacy of the client is ensured
When performing a virgin lighter on a
client, the colour should be applied
(A) Atthe base only

(B) At the base first

(C) From end to mid strand

(D) Always from scalp up to porous
ends then scalp
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When should a client's record card be
completed ?
(A) At the end of the week
(B) At the end of the treatment
session, so that you are able
to get the client’s feedback
(C) Whenever you have time

(D) Get the junior to complete it

What is the result achieved from a club

cutting technique ?
(A) Creates points in the end of the
hair

(B) Creates a blunt end of the hair

(C) Creates a softline to the end of the

hair

(D) Removes the bulk from the hair

The acidity of the acid mantle is

important in order to protect the skin

against

(A) A premature reduction in muscle
tone

(B) A premature reduction of collagen

(C) The invasion of bacteria

(D) The damaging effects of ultra
violet

An attribute of a Tamasic food

(A) Pure and fresh

(B) Spicy and stimulants

(C) Processed

(D) None of the above

175.

176.

177.

178.

179.

From the following options, select the
description of hair follicle.

(A) ltis created as new hair cells
form

The new cells of hair growth are
produced

The part of the hair above the skin
and scalp

The pocket in which the hair
grows

(B)
(©)

(D)

When introducing ourselves over the
phone, we should use

(A) Only our designation
(B) Only the surname

(C) Both the first name and the
surname

(D) Only our first name

In hair cutting, the crown of the head is
called the danger zone due to

(A) Irregular growth patterns

(B) Irregular sectioning

(C) Thinning scalp areas

(D) Shorter layers

Why would you apply talc to the skin
before waxing ?

(A) To soothe the skin

(B) To lift hairs away from the skin
(C) To make it less painful

(D) To cool the skin

The space between two lines or
surfaces that intersect at a given point
is called a

(A) Bang

(B) Line

(C) Surface

(D) Angle
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180. What is the function of the eponychium ?
(A) To produce new cells

(B) To protect the matrix from
infection

(C) To protect from hang nails and
ingrowing nails

(D) To hold the nail plate in place

181. Who wrote Hatha Yoga Pradipika ?
(A) Yogi Gorakshnath
(B) Swami Svatmarama
(C) Matsyendranath
(D) Mahrishi Dayananda
182. What is the pointed end of an orange
stick used for ?
(A) Toclean under the free edge
(B) To smooth out ridged nails
(C) Toremove hang nails
(D) To help minimise flaking on the nail
plate

183. One of the advantages of rollers is that
each roller holds the equivalent of

(A) One stand up curl
(B) Five stand up curl
(C) Two to four stand up curls
(D) '/, of the stand up curls
184. Where does hair growth generally
begin ?
(A) Epidermal cells
(B) Dermal cells
(C) Subcutaneous cells
(D) Melanocyte cells

185. Kneading is what type of motion ?
(A) Straight
(B) Circular
(C) Horizontal
(D) Vertical

186.

187.

188.

189.

190.

100 0O PO A OO0

The reason of exfoliating the skin prior
to facial treatment is

(A) To open the pores and allow
excretion of waste products from
the skin

(B) To remove dead cells, refine and
soften the skin

(C) To close the pores and avoid
allergic reaction to the products

(D) To cause the skin to perspire

Chemical products such as hair colour,
lighteners, perms and relaxers affect

(A) The diameter of the hair
(B) The porosity of the hair
(C) The length of the hair
(D) The growth of the hair

When shaping the eyebrow, the arch
should be at the highest point web pupil
of the eye is looking

(A) Straight ahead
(B) Towards the nose
(C) To the right

(D) Down

A mixture of blue with what color
produces green ?

(A) Orange
(B) Brown
(C) Yellow
(D) Red

Eccrine glands are glands which

(A) Excrete watery sweat found all over
the body

(B) Secrete hormones for calcium
absorption

(C) Excrete milky fluid found in the
armpits and groin areas

(D) Secrete hormones for lowering
blood calcium
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191.

192.

193.

194,

195.

What is the shelf life of hydrogen
peroxide ?

(A) Indefinite

(B) 2 months

(C) 1year

(D) 3years

The name of the bone in the upper
arm is '

(A) Ulna

(B) Femur

(C) Radius

(D) Humerus

How many bandhas are there ?

(A) 1

(B) 3

(€) 2

(D) 4

When selecting a shampoo consider
the

(A) Price of the profit

(B) Height of the sink

(C) Condition of the client’s hair

(D) Check for pH balance

A bacterial infection causing thin roofed
blisters, which weep and leave a thick

yellow crust. It is highly contagious.
What is the disorder ?

(A) Impetigo

(B) Warts

(C) Psoriasis

(D) Carcinoma

196.

197.

198.

199.

200.

W00 5 0 O O

Which diet is the purest diet ?
(A) Sattvic diet

(B) Rajasic diet

(C) Tamasic diet

(D) All of the above

Comedones are also known as
(A) Freckles

(B) Hives

(C) Blackheads

(D) Whiteheads

Who is the writer of Yoga-sutra ?
(A) Mahrishi Patanjali

(B) Vaatsyan

(C) Kapil Manu

(D) Swami Satyananda

The stratum lucidum is also known as
(A) Clear layer

(B) Surface layer

(C) Basal layer

(D) Granular layer

Pediculosis and scabies are which type
of infection ?

(A) Parasitic

(B) Fungal

(C) Viral

(D) Bacterial
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This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method || Wreng Methad || Wrong Method || Correct Me

O®000BO00|0O®O0I0Ce00

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.
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Go through instructions given in Page No. 1 (Facing Page)




